

ON THE REGULARITY OF MILD SOLUTIONS TO COMPLETE HIGHER ORDER DIFFERENTIAL EQUATIONS ON BANACH SPACES.

Nezam Iraniparast and Lan Nguyen

Abstract. For the complete higher order differential equation $u^{(n)}(t) = \sum_{k=0}^{n-1} A_k u^{(k)}(t) + f(t)$, $t \in R$ (*) on a Banach space E , we give a new definition of mild solutions of (*). We then characterize the regular admissibility of a translation invariant subspace \mathcal{M} of $BC(R, E)$ with respect to (*) in terms of solvability of the operator equation $\sum_{j=0}^{n-1} A_j X \mathcal{D}^j - X \mathcal{D}^n = C$. As application, almost periodicity of mild solutions of (*) is proved.

1 Introduction

The qualitative theory of mild solutions on the whole line of the higher order differential equation of the type

$$u^{(n)}(t) = Au(t) + f(t), \quad t \in R, \quad (1.1)$$

where A is a closed operator on a Banach space E , has been of increasing interest in the last years. When $n = 1$ and A generates a C_0 -semigroup $(T(t))_{t \geq 0}$, the mild solution of (1.1) is defined by

$$u(t) = T(t-s)u(s) + \int_s^t T(t-\tau)f(\tau)d\tau, \quad t \geq s. \quad (1.2)$$

The qualitative behavior of mild solution (1.2) has been intensively investigated by many authors (see [7], [10], [13], [15], [19] and references therein). For second order differential equation $u''(t) = Au(t) + f(t)$ with A generating a cosine family $(C(t))$, the mild solution is then defined by

$$u(t) = C(t-s)u(s) + S(t-s)u'(s) + \int_s^t S(t-\tau)f(\tau)d\tau, \quad (1.3)$$

2010 Mathematics Subject Classification: Primary 34G10; 34K06; Secondary 47D06.

Keywords: Abstract complete higher differential equations; mild solutions; operator equations; almost periodic functions.

<http://www.utgjiu.ro/math/sma>

where $S(t)$ is the associate sine family. The qualitative properties of mild solution (1.3) have also been studied in [8] and [14].

Recently, Schweiker [17] and Vu Quoc Phong and Schuler [16] studied the first and second order differential equation, in which A is not the generator of a C_0 -semigroup or of a cosine family (respectively). Although their definitions of mild solutions are different, they all showed that the existence and uniqueness of mild solutions, which belong to a subspace \mathcal{M} of $BUC(R, E)$, are closely related to the solvability of the operator equation of the form

$$AX - XD = -\delta_0.$$

Here \mathcal{D} is the differential operator in \mathcal{M} and δ_0 is the Dirac operator defined by $\delta_0(f) := f(0)$. On the other hand, in [2], Arendt and Batty showed the existence of almost periodic mild solution to second order differential equation by using a different way. In [9], the author extended those results to higher order differential equations.

Unfortunately, for the complete higher differential equations, we have had little consideration about the regularity of their solutions, mainly because of the complexity of the structure of the equation. In this paper, we consider the complete higher order differential equation

$$u^{(n)}(t) = \sum_{j=0}^{n-1} A_j u^{(j)}(t) + f(t) \quad t \in R, \quad (1.4)$$

where A_j ($j = 0, 1, 2, \dots, n-1$) are closed linear operator on E and f is a continuous function from R to E . First, we give a general definition of mild solutions to Equation (1.4). Several properties of mild solutions are then shown in Section 2.

In Section 3, we consider the conditions for the solvability of operator equation of the form $B(\sum_{j=0}^{n-1} B_j XD^j) - XD^n = C$, in particular, when $D = \mathcal{D}$, the differential operator on a function space, and $C = -\delta_0$.

Assume that \mathcal{M} is a closed, translation-invariant subspace of $BUC(R, E)$. \mathcal{M} is said to be *regularly admissible* with respect to Equation (1.4), if for every $f \in \mathcal{M}$ Equation (1.4) has a unique mild solution $u \in \mathcal{M}$. In Section 4 we characterize the regular admissibility of \mathcal{M} in terms of solvability of an operator equation. Namely, we show that the subspace \mathcal{M} is regularly admissible if and only if the operator equation of the form

$$B\left(\sum_{j=0}^{n-1} B_j XD^j\right) - XD^n = C \quad (1.5)$$

has a unique bounded solution. As applications, in Section 5, we prove that if $\sigma(S) \cap iR$ is countable and \mathcal{F} is a certain subspace of $BUC(R)$, then each bounded

mild solution of the complete higher order equation is in \mathcal{F} whenever f is in \mathcal{F} . The results in this paper extend some well-known results on the regularity of mild solutions of the first and higher order differential equations to the complete higher order differential equations.

Throughout this paper, if not otherwise indicated, we assume that $A_i, i = 0, 1, \dots, n-1$, are linear, closed operators on E with the domains $Dom(A_i)$ that satisfy the following condition:

Condition F: *There exists a linear, closed operator B on E with $Dom(B) \subset \bigcap_{j=0}^{n-1} Dom(A_j)$ and $0 \in \varrho(B)$ such that B commutes with A_i and $B^{-1}A_j$ can be extended to bounded operators $B_j = \overline{B^{-1}A_j} = A_jB^{-1}$ for all $j = 0, 1, \dots, n-1$.*

Examples:

- 1) Consider the higher order differential equation

$$u^{(n)}(t) = Au(t) + f(t) \quad t \in R,$$

where A is a closed operator on E with $\varrho(A) \neq \emptyset$. Then A satisfies **Condition F** with $B = (\lambda - A)$, where $\lambda \in \varrho(A)$.

- 2) Consider the complete, higher order differential equation:

$$\prod_{j=1}^n \left(\frac{d}{dt} - A_j \right) u(t) = f(t), \quad t \in R,$$

where A_j are closed, commuting operators on E with $\varrho(A_j) \neq \emptyset$. Then A_j satisfy **Condition F** with $B = \prod_{j=1}^n (\lambda_j - A_j)$, where $\lambda_j \in \varrho(A_j)$.

For a number $\lambda \in C$, define the operator

$$S(\lambda) = \lambda^n - B \left(\sum_{j=0}^{n-1} \lambda^j B_j \right) \quad (1.6)$$

with $Dom(S(\lambda)) = \{x \in E : \sum_{j=0}^{n-1} \lambda^j B_j x \in Dom(B)\}$. It is not hard to see that $\bigcap_{j=0}^{n-1} Dom(A_j) \subseteq Dom(S(\lambda))$. Moreover, since $B^{-1}S(\lambda)$ is bounded, $S(\lambda)$ is a closed operator. Finally, we define the resolvent $\varrho(S)$ and spectrum $\sigma(S)$ by

$$\varrho(S) := \{\lambda \in C : S(\lambda) \text{ is injective and surjective}\}$$

and

$$\sigma(S) = C \setminus \varrho(S).$$

Since $S(\lambda)$ is a closed operator, if $\lambda \in \varrho(S)$, then $S(\lambda)^{-1}$ is a bounded operator on E .

2 Mild Solutions of Higher Order Differential Equations

Let us fix some notations. By $C^{(n)}(R, E)$ we denote the space of continuous functions with continuous derivatives $u', u'', \dots, u^{(n)}$, and by $BUC(R, E)$ the space of bounded, uniformly continuous functions with values in E . The operator $I : C(R, E) \rightarrow C(R, E)$ is defined by $If(t) := \int_0^t f(s)ds$ and $I^n f := I(I^{n-1}f)$.

- (1) A continuous function u is called a mild solution of (1.4), if $\sum_{j=0}^{n-1} B_j I^{n-j} u(t) \in \text{Dom}(B)$ and there exist n vectors x_0, x_1, \dots, x_{n-1} in E such that

$$u(t) = \sum_{j=0}^{n-1} \frac{t^j}{j!} x_j + B \left(\sum_{j=0}^{n-1} B_j I^{n-j} u(t) \right) + I^n f(t) \quad (2.1)$$

for all $t \in R$.

- (2) A function u is a classical solution of (1.4), if u is n -times continuously differentiable, $\sum_{j=0}^{n-1} B_j u^{(j)}(t) \in \text{Dom}(B)$ and

$$u^{(n)}(t) = B \left(\sum_{j=0}^{n-1} B_j u^{(j)}(t) \right) + f(t)$$

holds for $t \in R$.

Remark. Using the standard arguments, we can prove the following.

- (i) If a mild solution u is m times differentiable, $0 \leq m < n$, then $x_j, j = 0, 1, \dots, m$, are the initial values, i.e. $u(0) = x_0, u'(0) = x_1, \dots$, and $u^{(m)}(0) = x_m$.
- (ii) If u is a bounded mild solution of (1.4) corresponding to a bounded inhomogeneity f and $\phi \in L^1(R, E)$ then $u * \phi$ is a mild solution of (1.4) corresponding to $f * \phi$.

The mild solution to (1.4) defined by (2.1) is really an extension of classical solution in the sense that every classical solution is a mild solution and conversely, if a mild solution is n -times continuously differentiable, then it is a classical solution. That statement is actually contained in the following lemma. For the sake of simplicity, for $j < 0$, we denote $I^j u(t) := u^{(j)}(t)$, the j^{th} derivative of $u(t)$.

Lemma 1. Suppose m is an integer with $0 \leq m \leq n$ and u is a mild solution of (1.4), which is m -times continuously differentiable. Then $\sum_{j=0}^{n-1} B_j I^{n-m-j} u(t) \in D(B)$ and

$$u^{(m)}(t) = \sum_{j=m}^{n-1} \frac{t^{j-m}}{(j-m)!} x_j + B \left(\sum_{j=0}^{n-1} B_j I^{n-m-j} u(t) \right) + I^{n-m} f(t). \quad (2.2)$$

Proof. If $m = 0$, then (2.2) coincides with (2.1). We prove for $m = 1$: Let

$$v(t) := B \left(\sum_{j=0}^{n-1} B_j I^{n-j} u(t) \right) = u(t) - \sum_{j=0}^{n-1} \frac{t^j}{j!} x_j - I^n f(t).$$

By the assumptions, v is continuously differentiable and

$$v'(t) = u'(t) - \sum_{j=1}^{n-1} \frac{t^{j-1}}{(j-1)!} x_j - I^{n-1} f(t).$$

Let $h > 0$ and put

$$v_h := \sum_{j=0}^{n-1} B_j \frac{1}{h} \int_t^{t+h} I^{n-j-1} u(s) ds.$$

Then $v_h \rightarrow \sum_{j=0}^{n-1} B_j (I^{n-j-1} u)(t)$ for $h \rightarrow 0$ and

$$\begin{aligned} Bv_h &= B \sum_{j=0}^{n-1} \frac{1}{h} \left(B_j \int_0^{t+h} I^{n-j-1} u(s) ds - B_j \int_0^t I^{n-j-1} u(s) ds \right) \\ &= \frac{1}{h} \left(B \sum_{j=0}^{n-1} B_j \int_0^{t+h} I^{n-j-1} u(s) ds - B \sum_{j=0}^{n-1} B_j \int_0^t I^{n-j-1} u(s) ds \right) \\ &= \frac{1}{h} \left(B \sum_{j=0}^{n-1} B_j I^{n-j} u(t+h) - B \sum_{j=0}^{n-1} B_j I^{n-j} u(t) \right) \\ &= \frac{1}{h} (v(t+h) - v(t)) \\ &\rightarrow v'(t) \text{ for } h \rightarrow 0. \end{aligned}$$

Since B is a closed operator, we obtain that $\sum_{j=0}^{n-1} B_j (I^{n-j-1} u)(t) \in \text{Dom}(B)$ and

$$B \sum_{j=0}^{n-1} B_j (I^{n-j-1} u)(t) = u'(t) - \sum_{j=1}^{n-1} \frac{t^{j-1}}{(j-1)!} x_j - I^{n-1} f(t),$$

from which (2.2) with $m = 1$ follows. If $m > 1$, we obtain (2.2) by repeating the above process $(m - 1)$ times. \square

In particular, if f is continuous and the mild solution u is n -times continuously differentiable, i.e. $m = n$, then (2.2) becomes $u^{(n)}(t) = B \sum_{j=0}^{n-1} B_j I^{-j} u(t) + f(t) = B \sum_{j=0}^{n-1} B_j u^{(j)}(t) + f(t)$, which means u is a classical solution of (1.4).

In the following we consider the spectrum of mild solutions of (1.4). For a bounded

function $u \in L^\infty(R, E)$, the Carleman transform \hat{u} of u is defined by

$$\hat{u}(\lambda) = \begin{cases} \int_0^\infty e^{-\lambda t} u(t) dt & \text{for } \operatorname{Re}(\lambda) > 0, \\ -\int_{-\infty}^0 e^{-\lambda t} u(t) dt & \text{for } \operatorname{Re}(\lambda) < 0. \end{cases} \quad (2.3)$$

It is clear that \hat{u} is holomorphic on $C \setminus iR$. A point $\mu \in R$ is called a *regular point* if \hat{u} has a holomorphic extension in a neighborhood of $i\mu$. The spectrum of u is defined as follows

$$\operatorname{sp}(u) = \{ \mu \in R : \mu \text{ is not regular} \}$$

The following lemma, whose proof can be found in [5] and [11], will be needed later.

Lemma 2. *Let f, g be in $BUC(R, E)$ and $\phi \in L^1(R, E)$. Then*

(i) *$\operatorname{sp}(f)$ is closed and $\operatorname{sp}(f) = \emptyset$ if and only if $f = 0$.*

(ii) *$\operatorname{sp}(f + g) \subset \operatorname{sp}(f) \cup \operatorname{sp}(g)$.*

(iii) *$\operatorname{sp}(f * \phi) \subset \operatorname{sp}(f) \cap \operatorname{supp} \mathcal{F}\phi$, where $\mathcal{F}\phi$ is the Fourier transform of ϕ .*

The following lemma is the first result about the spectrum of mild solutions of Equation (1.4).

Lemma 3. *Let f be a bounded continuous function and u be a bounded mild solution of (1.4). Then*

$$\operatorname{sp}(u) \subseteq \{ \mu \in R : i\mu \in \sigma(S) \} \cup \operatorname{sp}(f).$$

Proof. It is easy to see that $\widehat{Iu}(\lambda) = \frac{1}{\lambda} \hat{u}(\lambda)$, hence $\widehat{I^n u}(\lambda) = \frac{1}{\lambda^n} \hat{u}(\lambda)$. Taking the Carleman transform on both sides of Equation (2.1) we have

$$\hat{u}(\lambda) = Q(\lambda) + B \sum_{j=0}^{n-1} B_j \frac{\hat{u}(\lambda)}{\lambda^{n-j}} + \frac{1}{\lambda^n} \hat{f}(\lambda), \quad (2.4)$$

where $Q(\lambda) = \int_0^\infty e^{-\lambda t} \left(\sum_{i=0}^{n-1} \frac{t^i}{i!} x_i \right) dt = \sum_{i=0}^{n-1} x_i / \lambda^{i+1}$. From Equation (2.4) we obtain

$$S(\lambda) \hat{u}(\lambda) = \lambda^n Q(\lambda) + \hat{f}(\lambda)$$

for $\lambda \notin iR$. Hence, for $\lambda \in \varrho(S)$ we have

$$\hat{u}(\lambda) = S(\lambda)^{-1} (\lambda^n Q(\lambda) + \hat{f}(\lambda)).$$

Note that $\lambda^n Q(\lambda)$ is a holomorphic function in terms of λ . It implies that if $\mu \in R$ is a regular point of f and $i\mu \in \varrho(S)$, then \hat{u} has holomorphic extension in a neighborhood of $i\mu$, i.e. μ is a regular point of u . Hence we have the inclusive relation. \square

From Lemma 3, it directly follows.

Corollary 4. *If u is a bounded mild solution of (1.4) corresponding to $f \equiv 0$, then $sp(u) \subseteq \{\mu \in R : i\mu \in \sigma(S)\}$*

Corollary 5. *If $iR \cap \sigma(S) = \emptyset$, then (1.4) has at most one bounded mild solution.*

3 The Equation $B(\sum_{j=0}^{n-1} B_j X D^j) - X D^n = C$

Let A and D be closed, generally unbounded, linear operators on Banach spaces E and F , respectively, and let C be a bounded linear operator from E to F . A bounded operator $X : F \rightarrow E$ is called a *solution* of the operator equation

$$AX - XD = C \quad (3.1)$$

if for every $f \in Dom(D)$ we have $Xf \in Dom(A)$ and $AXf - XDf = Cf$. Equation (3.1) has been considered by many authors. It was first studied intensively for bounded operators by Daleckii and Krein [3], Rosenblum [12]. For unbounded case, (3.1) was studied in [1], [18], [15] and [19] when A and D are generators of C_0 -semigroups, and in [13], [16] when A and D are closed operators.

In this paper, we consider operator equation of the form:

$$B\left(\sum_{j=0}^{n-1} B_j X D^j\right) - X D^n = C, \quad (3.2)$$

where B and B_j , $j = 0, 1, \dots, n-1$, are defined as in Section 1, D is a closed operator on F and C is a bounded operator from F to E . A bounded operator $X : F \rightarrow E$ is called a *solution* of (3.2) if for each $f \in Dom(D^n)$, $\sum_{j=0}^{n-1} B_j X D^j f \in Dom(B)$ and

$$B\left(\sum_{j=0}^{n-1} B_j X D^j f\right) - X D^n f = Cf.$$

We have the following results:

Theorem 6. (i) *If Equation (3.2) has a unique bounded solution for every bounded operator C , then $\sigma(S) \cap \sigma(D) = \emptyset$;*

(ii) *Suppose D is a bounded operator such that $\sigma(S) \cap \sigma(D) = \emptyset$. Then for every bounded operator C , Equation (3.2) has a unique bounded solution X , which has the following integral form*

$$X = -\frac{1}{2\pi i} \int_{\Gamma} S(\lambda)^{-1} C (\lambda - D)^{-1} d\lambda, \quad (3.3)$$

where Γ is a closed Cauchy contour around $\sigma(D)$ and separated from $\sigma(S)$.

Proof. The proof of (i) is almost the same as the one of ([1, Theorem 2.1]) with little modification, and is omitted.

To prove (ii), let X be as in (3.3). We will show that X is a solution of (3.2). Let j be a positive integer and suppose $f \in \text{Dom}(D^j)$, then by a straightforward calculation we have

$$(\lambda - D)^{-1}D^j f = \lambda^j(\lambda - D)^{-1}f - \sum_{k=0}^{j-1} \lambda^k D^{j-k-1} f. \quad (3.4)$$

Using definition (3.3) and identity (3.4) we obtain

$$\begin{aligned} \sum_{j=0}^{n-1} B_j X D^j f &= -\frac{1}{2\pi i} \sum_{j=0}^{n-1} \int_{\Gamma} B_j S(\lambda)^{-1} C(\lambda - D)^{-1} D^j f d\lambda \\ &= -\frac{1}{2\pi i} \sum_{j=0}^{n-1} \int_{\Gamma} B_j S(\lambda)^{-1} C \left(\lambda^j (\lambda - D)^{-1} f - \sum_{k=0}^{j-1} \lambda^k D^{j-k-1} f \right) d\lambda \\ &= -\frac{1}{2\pi i} \sum_{j=0}^{n-1} \left(\int_{\Gamma} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f d\lambda - \sum_{k=0}^{j-1} \int_{\Gamma} \lambda^k B_j S(\lambda)^{-1} C D^{j-k-1} f d\lambda \right) \\ &= -\frac{1}{2\pi i} \int_{\Gamma} \left(\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f \right) d\lambda. \end{aligned}$$

Here we used the fact that $\int_{\Gamma} \lambda^k S(\lambda)^{-1} C D^{j-k-1} f d\lambda = 0$ for all $k = 0, 1, \dots, j$. Note that

$$S(\lambda)^{-1} C(\lambda - D)^{-1} f \in \text{Dom}(S(\lambda)).$$

Thus,

$$\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f \in \text{Dom}(B)$$

and

$$\begin{aligned} B \left(\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f \right) &= \\ &= \lambda^n S(\lambda)^{-1} C(\lambda - D)^{-1} f - S(\lambda) S(\lambda)^{-1} C(\lambda - D)^{-1} f \\ &= \lambda^n S(\lambda)^{-1} C(\lambda - D)^{-1} f - C(\lambda - D)^{-1} f \end{aligned}$$

is a holomorphic function on $C \setminus (\sigma(D) \cup \sigma(S))$. Hence,

$$\sum_{j=0}^{n-1} B_j X D^j f = -\frac{1}{2\pi i} \int_{\Gamma} \left(\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f \right) d\lambda \in \text{Dom}(B)$$

and

$$\begin{aligned}
& B\left(\sum_{j=0}^{n-1} B_j X D^j f\right) - X D^n f = \\
& = -\frac{1}{2\pi i} B \int_{\Gamma} \left(\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} C(\lambda - D)^{-1} f \right) d\lambda + \\
& \quad + \frac{1}{2\pi i} \int_{\Gamma} S(\lambda)^{-1} C(\lambda - D)^{-1} D^n f d\lambda \\
& = -\frac{1}{2\pi i} \int_{\Gamma} \left(\lambda^n S(\lambda)^{-1} C(\lambda - D)^{-1} f - C(\lambda - D)^{-1} f \right) d\lambda + \\
& \quad + \left(\frac{1}{2\pi i} \int_{\Gamma} \lambda^n S(\lambda)^{-1} C(\lambda - D)^{-1} f d\lambda - \frac{1}{2\pi i} \sum_{k=0}^{n-1} \int_{\Gamma} \lambda^k S(\lambda)^{-1} C D^{n-k-1} f d\lambda \right) \\
& = C \frac{1}{2\pi i} \int_{\Gamma} (\lambda - D)^{-1} f d\lambda - \frac{1}{2\pi i} \sum_{k=0}^{n-1} \int_{\Gamma} \lambda^k S(\lambda)^{-1} C D^{n-k-1} f d\lambda \\
& = C f,
\end{aligned}$$

which shows X is an operator solution to (3.2). Here we used again identity (3.4) and the fact that $\int_{\Gamma} \lambda^k S(\lambda)^{-1} C D^{n-k-1} f d\lambda = 0$ for all $k = 0, 1, \dots, n$.

To show the uniqueness of the solution of (3.2), it suffices to show $X = 0$, where X is a solution of

$$B\left(\sum_{j=0}^{n-1} B_j X D^j\right) - X D^n = 0. \quad (3.5)$$

Let X be a solution of (3.5). Then for each $f \in \text{Dom}(D^n)$ we have

$$X D^n (\lambda - D)^{-1} f = B \left(\sum_{j=0}^{n-1} B_j X D^j (\lambda - D)^{-1} f \right). \quad (3.6)$$

Thus,

$$\begin{aligned}
S(\lambda)^{-1} X D^n (\lambda - D)^{-1} f & = S(\lambda)^{-1} B \left(\sum_{j=0}^{n-1} B_j X D^j (\lambda - D)^{-1} f \right) \\
& = B \left(\sum_{j=0}^{n-1} B_j S(\lambda)^{-1} X D^j (\lambda - D)^{-1} f \right). \quad (3.7)
\end{aligned}$$

Using Identity (3.4) for the left side and the definition of operator B on the right side of (3.7) we have

$$S(\lambda)^{-1} X D^n (\lambda - D)^{-1} f = \lambda^n S(\lambda)^{-1} X (\lambda - D)^{-1} f - \sum_{k=0}^{n-1} \lambda^k S(\lambda)^{-1} X D^{n-k-1} f \quad (3.8)$$

and

$$B\left(\sum_{j=0}^{n-1} \lambda^j B_j S(\lambda)^{-1} X(\lambda - D)^{-1} f\right) = \lambda^n S(\lambda)^{-1} X(\lambda - D)^{-1} f - X(\lambda - D)^{-1} f. \tag{3.9}$$

Comparing (3.8) and (3.9) we have

$$X(\lambda - D)^{-1} f = \sum_{k=0}^{n-1} \lambda^k S(\lambda)^{-1} X D^{n-k-1} f,$$

which implies

$$Xf = \frac{1}{2\pi i} \int_{\Gamma} X(\lambda - D)^{-1} f d\lambda = \frac{1}{2\pi i} \sum_{k=0}^{n-1} \int_{\Gamma} \lambda^k S(\lambda)^{-1} X D^{n-k-1} f = 0$$

and hence, $X = 0$. □

We now consider the situation when $F = \mathcal{M}$, a translation-invariant subspace of $BUC(R, E)$ and $D = \mathcal{D}_{\mathcal{M}}$, the restriction of \mathcal{D} to \mathcal{M} , where $\mathcal{D} := \frac{d}{dt}$ on $BUC(R, E)$. It is well-known that $\sigma(\mathcal{D}) = iR$ and $\sigma(\mathcal{D}^n) = (\sigma(\mathcal{D}))^n$.

Let now $\mathcal{M}_k := \{f \in \mathcal{M} : sp(f) \subset [-ik, ik]\}$, $k \geq 1$. Then the following properties hold (See [4, 16]).

- i) \mathcal{M}_k are translation invariant subspaces,
- ii) $\mathcal{M}_k \subset \mathcal{M}_{k+1}$ and
- iii) $\mathcal{D}_{\mathcal{M}_k}$ is bounded.

We first need the following Lemma, which was proved in [16].

Lemma 7. $\sigma(\mathcal{D}_{\mathcal{M}}) = \cup_{k=1}^{\infty} \sigma(\mathcal{D}_{\mathcal{M}_k})$.

We now return to the operator equation

$$B\left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j\right) - X \mathcal{D}_{\mathcal{M}}^n = \delta_0^{\mathcal{M}}, \tag{3.10}$$

where $\delta_0^{\mathcal{M}}$ is the restriction of the Dirac operator to \mathcal{M} . Assume that

$$\sigma(S) \cap \sigma(\mathcal{D}_{\mathcal{M}}) = \emptyset. \tag{3.11}$$

Then it implies $\sigma(S) \cap \sigma(\mathcal{D}_{\mathcal{M}_k}) = \emptyset$. By Theorem 6, the operator equation

$$B\left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}_k}^j\right) - X \mathcal{D}_{\mathcal{M}_k}^n = \delta_0^{\mathcal{M}_k}$$

has a unique bounded solution X_k , which is of the form

$$X_k = -\frac{1}{2\pi i} \int_{\Gamma_k} S(\lambda)^{-1} \delta_0^{\mathcal{M}_k} (\lambda - \mathcal{D}_{\mathcal{M}_k})^{-1} d\lambda, \quad (3.12)$$

where Γ_k is a contour around $\sigma(\mathcal{D}_{\mathcal{M}_k})$ and separated from $\sigma(S)$. Moreover, the uniqueness of X_k implies

$$X_k|_{\mathcal{M}_l} = X_l \text{ for } l < k.$$

We state a result about the existence and uniqueness of bounded solutions of Equation (3.10), whose proof is similar to that of [16, Theorem 7], and is omitted.

Theorem 8. *Assume that condition (3.11) holds. Then the operator equation (3.10) has a unique bounded solution if and only if*

$$\sup_{k \geq 1} \|X_k\| < \infty, \quad (3.13)$$

where X_k are defined by (3.12).

4 Regularly Admissible Subspaces

Let \mathcal{M} be a closed, translation-invariant subspace of $BUC(R, E)$, which is regularly admissible with respect to Equation (1.4). Define the linear operator G on \mathcal{M} such that for each $f \in \mathcal{M}$, Gf is the unique mild solution of (1.4) in \mathcal{M} , we have the following.

Lemma 9. *G is a linear, bounded operator on \mathcal{M} .*

Proof. We define operator $\tilde{G} : \mathcal{M} \rightarrow \mathcal{M} \otimes E^n$ by

$$\tilde{G}f := (u, x_0, x_1, \dots, x_{n-1}),$$

where u is the unique mild solution of (1.4) corresponding to f and x_0, x_1, \dots, x_{n-1} are contained in the mild solution

$$u(t) = \sum_{j=0}^{n-1} \frac{t^j}{j!} x_j + B \left(\sum_{j=0}^{n-1} B_j I^{n-j} u(t) \right) + I^n f(t). \quad (4.1)$$

We will show that \tilde{G} is closed. Let $(f_k)_{k \in \mathbb{N}} \subseteq \mathcal{M}$ with $\lim_{k \rightarrow \infty} f_k = f$ and $\tilde{G}f_k = (u_k, x_{0,k}, \dots, x_{n-1,k})$ with $\lim_{k \rightarrow \infty} \tilde{G}f_k = (u, x_0, \dots, x_{n-1})$, i.e. $\lim_{k \rightarrow \infty} u_k = u$ and $\lim_{k \rightarrow \infty} x_{j,k} = x_j$ for $j = 0, 1, \dots, n-1$. Then we have

$$\lim_{k \rightarrow \infty} \sum_{j=0}^{n-1} B_j I^{n-j} u_k(t) = \sum_{j=0}^{n-1} B_j I^{n-j} u(t)$$

and, by Equation (4.1),

$$\begin{aligned} B\left(\sum_{j=0}^{n-1} B_j I^{n-j} u_k(t)\right) &= u_k(t) - \sum_0^{n-1} \frac{t^i}{i!} x_{i,k} - I^n f_k(t) \\ &\rightarrow u(t) - \sum_0^{n-1} \frac{t^i}{i!} x_k - I^n f(t) \text{ as } k \rightarrow \infty. \end{aligned}$$

Since B is closed we obtain that $\sum_{j=0}^{n-1} B_j I^{n-j} u(t) \in \text{Dom}(B)$ and

$$B\left(\sum_{j=0}^{n-1} B_j I^{n-j} u(t)\right) = u(t) - \sum_0^{n-1} \frac{t^i}{i!} x_i - I^n f(t).$$

That means $\tilde{G}f = (u, x_0, x_1, \dots, x_{n-1})$. Hence, \tilde{G} is closed and thus bounded. Since $G = \tilde{G} \circ P$, where $P : \mathcal{M} \otimes E^n \rightarrow \mathcal{M}$ is the projection on the first coordinate and thus a bounded operator, we obtain that G is bounded. \square

In the next lemma, we show that G , which is called the solution operator of (1.4), commutes with the translation operator and hence, commutes with the differential operator.

Lemma 10. *Let \mathcal{M} be a regularly admissible subspace of $BUC(R, E)$. Then the following statements hold.*

- i) $S_h \cdot G = G \cdot S_h$, where S_h is the translation operator on \mathcal{M} .
- ii) $\mathcal{D}_{\mathcal{M}} \cdot G = G \cdot \mathcal{D}_{\mathcal{M}}$

Proof. i) Let $u = Gf$ be the unique mild solution of equation (1.4). We show that $S_h u$ is the unique mild solution to (1.4) corresponding to $S_h f$. By a short calculation we can show that

$$(I^m S_h u)(t) = (I^m u)(t+h) + \sum_{j=0}^{m-1} t^j v_j,$$

where v_j are certain vectors in E depending only on h . Hence,

$$\begin{aligned} &B\left(\sum_{j=0}^{n-1} B_j I^{n-j}(S_h u)(t)\right) + I^n S_h f(t) \\ &= B\left(\sum_{j=0}^{n-1} B_j I^{n-j} u(t+h)\right) + I^n f(t+h) + \sum_{j=0}^{m-1} t^j w_j \\ &= u(t+h) - \sum_{j=0}^{m-1} \frac{(t+h)^j}{j!} x_j + \sum_{j=0}^{m-1} t^j w_j \\ &= S_h u(t) - \sum_{j=0}^{m-1} \frac{t^j}{j!} y_j. \end{aligned}$$

Hence,

$$S_h u(t) = \sum_{j=0}^{m-1} \frac{t^j}{j!} y_j + B \left(\sum_{j=0}^{n-1} B_j I^{n-j}(S_h u)(t) \right) + I^n S_h f(t),$$

where w_i and y_j , $i = 0, 1, \dots, n-1$ are certain vectors in E . This means $S_h u$ is the mild solution to (1.4) corresponding to $S_h f$. Part *ii*) is a direct consequence of *i*), and the lemma is proved \square

Corollary 11. *Let \mathcal{M} be a regularly admissible subspace of $BUC(R, E)$ and u be the unique mild solution corresponding to f in \mathcal{M} . If $f \in C^n(R, E)$ such that $f', f'', \dots, f^{(n)}$ belong to \mathcal{M} , then u is a classical solution.*

In what follows, we assume that \mathcal{M} satisfies the following additional assumption:

$$\text{For all } C \in \mathcal{L}(\mathcal{M}, E) \text{ and } f \in \mathcal{M}, \quad (4.2)$$

the function $\Phi(t) = CS(t)f$ belongs to \mathcal{M} .

The regular admissibility of a space is closely related to the solvability of operator equation (3.1). That relation was shown for higher order differential equations (see [15] when $n = 1$, [17] and [16] when $n = 2$ and [9] for any n). The following theorem is a generalization of those results to complete, higher order differential equations.

Theorem 12. *Let \mathcal{M} be a translation invariant subspace in $BUC(R, E)$, which satisfies the assumption (4.2). Then the following are equivalent.*

(i) \mathcal{M} is a regularly admissible.

(ii) The operator equation

$$B \left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j \right) - X \mathcal{D}_{\mathcal{M}}^n = -\delta_0 \quad (4.3)$$

has a unique solution.

(iii) For every bounded operator $C : \mathcal{M} \rightarrow E$, the operator equation

$$B \left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j \right) - X \mathcal{D}_{\mathcal{M}}^n = C \quad (4.4)$$

has a unique solution.

Proof (i) \Rightarrow (ii). Let $G : \mathcal{M} \rightarrow \mathcal{M}$ be the bounded operator defined by $Gf = u$ where u is the unique mild solution in \mathcal{M} . We define the operator $X : \mathcal{M} \mapsto E$ by

$$Xf := (Gf)(0).$$

Then X is a bounded operator. Let now $f \in \mathcal{D}_{\mathcal{M}}^n$. By Corollary 11, $u = Gf$ is a classical solution of (1.4), i.e.,

$$(Gf)^{(n)}(t) = B\left(\sum_{j=0}^{n-1} B_j(Gf)^{(j)}(t)\right) + f(t). \quad (4.5)$$

By Lemma 10, $(Gf)^{(j)} = Gf^{(j)}$ for $j = 1, 2, \dots, n$. Using that fact when we put $t = 0$ in (4.5), we have

$$B\left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j\right) f - X \mathcal{D}_{\mathcal{M}}^n f = -\delta_0 f$$

for any $f \in \mathcal{D}_{\mathcal{M}}^n$, i.e. X is a bounded solution of (4.3).

To show the uniqueness, we assume that X_0 is a solution of Equation (4.3). Then for every $f \in \mathcal{D}_{\mathcal{M}}^n$, the function $u \in \mathcal{M}$, defined by $u(t) = X_0 S(t)f$, is a classical solution of Equation (1.4). Indeed,

$$\begin{aligned} u^{(n)}(t) &= X_0 \mathcal{D}^n S(t)f \\ &= B\left(\sum_{j=0}^{n-1} B_j X_0 \mathcal{D}_{\mathcal{M}}^j S(t)f\right) + \delta_0 S(t)f \\ &= B\left(\sum_{j=0}^{n-1} B_j u^{(j)}(t)\right) + f(t) \end{aligned}$$

for all $t \in R$. We will show that $u(\cdot) = X_0 S(\cdot)f$ is a mild solution of (1.4) for every $f \in \mathcal{M}$. To this end, let $f \in \mathcal{M}$. Then there exists a sequence $(f_k)_{k \in N} \subset D(\mathcal{D}_{\mathcal{M}}^n)$ with $\lim_{k \rightarrow \infty} f_k = f$. Using the boundedness of operator G we have

$$Gf = \lim_{k \rightarrow \infty} Gf_k = \lim_{k \rightarrow \infty} X_0 S(\cdot)f_k = X_0 S(\cdot)f,$$

i.e., $u(\cdot) = X_0 S(\cdot)f$ is a mild solution of (1.4).

Assume now that X_1 and X_2 are two solutions of (4.3). Then, for every $f \in \mathcal{M}$, $u = (X_1 - X_2)S(\cdot)f$ is a mild solution of the higher order equation $u^{(n)}(t) = B(\sum_{j=0}^{n-1} B_j u^{(j)}(t))$. By the uniqueness of the mild solution we have $u \equiv 0$, which implies $X_1 = X_2$.

(ii) \Rightarrow (iii) Let X be the unique solution of (4.3). Define the bounded operator $Y : \mathcal{M} \rightarrow E$ by $Yf := X\bar{f}$, where $\bar{f}(\cdot) := -CS(\cdot)f$. Let $f \in \text{Dom}(\mathcal{D}_{\mathcal{M}}^n)$, then $(\mathcal{D}_{\mathcal{M}}^n \bar{f})(t) = -CS(t)\mathcal{D}_{\mathcal{M}}^n f = \mathcal{D}_{\mathcal{M}}^n \bar{f}(t)$. Hence, we have

$$\begin{aligned} B\left(\sum_{j=0}^{n-1} B_j Y \mathcal{D}_{\mathcal{M}}^j f\right) &= B\left(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j \bar{f}\right) \\ &= X \mathcal{D}_{\mathcal{M}}^n \bar{f} + \delta_0 \bar{f} \\ &= Y \mathcal{D}_{\mathcal{M}}^n f + Cf, \end{aligned}$$

i.e. Y is a bounded solution of (4.4).

The uniqueness of the solution of (4.4) follows directly from the uniqueness of the solution of the homogeneous equation $B(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j) - X \mathcal{D}_{\mathcal{M}}^n = 0$, which, again, follows from the uniqueness of the solution of (4.3).

(iii) \Rightarrow (i) We have shown above that, if X is a bounded solution of (4.3), then $u(t) := XS(t)f$ is a mild solution of the higher order equation (1.4). It remains to show that this solution is unique. In order to do it, assume that u is a mild solution of the homogeneous equation $u^{(n)}(t) = \sum_{j=0}^{n-1} A_j u^{(j)}(t)$, $t \in R$. By Corollary 4, $isp(u) \subseteq \sigma(S)$. On the other hand, since $u \in \mathcal{M}$, $isp(u) \subseteq \sigma(\mathcal{D}_{\mathcal{M}})$. By Theorem 6(i), it follows from (iii) that $\sigma(S) \cap \sigma(\mathcal{D}_{\mathcal{M}}) = \emptyset$. Hence, $sp(u) = \emptyset$, so $u \equiv 0$ and the theorem is proved. \square

5 Applications

We now apply the results in Chapter 4 to some function spaces. Let \mathcal{G} be a closed, translation-invariant subspace of $BUC(R, E)$. We define the *reduced spectrum* of a function $u \in \mathcal{G}$ by

$$sp_{\mathcal{G}}(u) := \{ \lambda \in R : \forall \epsilon > 0 \exists g \in L^1(R) \text{ such that } \\ \text{supp} \overline{\mathcal{F}}g \subset (\lambda - \epsilon, \lambda + \epsilon) \text{ and } g * u \notin \mathcal{G} \}.$$

Theorem 13. *Assume that $f \in \mathcal{G}$ and u is a mild solution of (1.4). Then we have*

$$sp_{\mathcal{G}}(u) \subset iR \cap \sigma(S).$$

Proof. Let λ be any point in R such that $i\lambda \in \varrho(S)$, we will show that $\lambda \notin sp_{\mathcal{G}}(u)$, i.e., there is $\epsilon > 0$ such that for every $\phi \in L^1(R)$ with $\text{supp} \mathcal{F}\phi \subset (\lambda - \epsilon, \lambda + \epsilon)$, the function $\phi * u$ is in \mathcal{G} .

Since $\varrho(S)$ is an open set, there exists $\epsilon > 0$ such that $i\Gamma \subset \varrho(S)$, where $\Gamma = [\lambda - \epsilon, \lambda + \epsilon]$. Let $\mathcal{M} = X(\Gamma)$ be the subspace of $BUC(R, E)$ consisting of all functions f with $sp(f) \subset \Gamma$. It is easy to see that \mathcal{M} satisfies condition (4.2). Moreover, $\mathcal{D}_{\mathcal{M}}$ is bounded, $\sigma(\mathcal{D}_{\mathcal{M}}) = i\Gamma$ and $\sigma(S) \cap (i\Gamma) = \emptyset$. Hence, by Theorem 6(ii), the equation $B(\sum_{j=0}^{n-1} B_j X \mathcal{D}_{\mathcal{M}}^j) - X \mathcal{D}_{\mathcal{M}}^n = -\delta_0$ has a unique solution. By Theorem 12, \mathcal{M} is regularly admissible and for any function $\tilde{f} \in \mathcal{M}$, if $\tilde{f} \in \mathcal{G}$, then the mild solution $\tilde{u}(t) = XS(t)\tilde{f}$ is also in \mathcal{G} .

Let ϕ be a function in $L^1(R)$ with $\text{supp} \mathcal{F}\phi \subset \Gamma$. Put $\tilde{u} := u * \phi$ and $\tilde{f} := f * \phi$. Then \tilde{u} and \tilde{f} are in $X(\Gamma)$ (due to Lemma 2(iii)) and \tilde{f} is a function in \mathcal{G} . Moreover, \tilde{u} is the unique mild solution of (1.4) corresponding to \tilde{f} in $X(\Gamma)$ (due to Remark (iv) in Section 2). Hence, \tilde{u} is also in \mathcal{G} , and the theorem is proved. \square

We apply the above theorem with $\mathcal{G} = AP(R, E)$, the space of all continuous, almost periodic function from R to E . We know that if u is almost periodic, then $sp_{AP}(u)$

is countable, but we do not have the converse implication. The following theorem, which can be found in [6] (part (a) and (b)) and [13] (part (c)), gives conditions for the almost periodicity of a function, if its reduced spectrum is countable.

Theorem 14. *Let $u \in BUC(R, E)$ such that $sp_{AP}(u)$ is countable. Assume that*

- (a) $E \not\supseteq c_0$; or
- (b) *The range of $u(t)$ is weakly relatively compact; or*
- (c) *u is totally ergodic.*

Then u is almost periodic.

Combining Theorem 13 and Theorem 14 we have

Theorem 15. *For the equation*

$$u^{(n)}(t) = \sum_{j=0}^{n-1} A_j u^{(j)}(t) + f(t), \quad t \in R, \quad (5.1)$$

we assume that f is almost periodic and $\sigma(S) \cap (iR)$ is countable. Let $u \in BUC(R, E)$ be a mild solution of Equation (5.1). Then u is almost periodic if one of the following conditions is satisfied.

- (a) $E \not\supseteq c_0$; or
- (b) *The range of $u(t)$ is weakly relatively compact; or*
- (c) *u is totally ergodic.*

We can extend the above results to a class of subspaces in $BUC(R, E)$ using a result from [2].

Theorem 16. (c.f.[2, Theorem 3.4]) *Suppose \mathcal{F} is a closed, translation-invariant subspace of $BUC(R, E)$ satisfying the following conditions:*

- (i) \mathcal{F} contains a constant functions;
- (ii) \mathcal{F} is invariant by multiplication by $e^{i\lambda \cdot}$ for all $\lambda \in R$;
- (iii) whenever $f \in \mathcal{F}$ and $F(t) = \int_0^t f(s)ds \in BUC(R, E)$, then $F \in \mathcal{F}$;

Then for each function $u \in BUC(R, E)$ with $\sigma_{\mathcal{F}}(u)$ being countable, we have $u \in \mathcal{F}$.

Combining Theorem 13 and Theorem 16, we have

Theorem 17. *Let F be a subspace of $BUC(R, E)$ satisfying conditions in Theorem 16. Suppose $f \in \mathcal{F}$ and $iR \cap \sigma(S)$ is countable. Let $u \in BUC(R, E)$ be a mild solution of Equation (5.1). Then u is in \mathcal{F} .*

References

- [1] ARENDT W., RABIGER F., SOUROUR A.: *Spectral properties of the operator equation $AX - XB = Y$* . Quart. J. Math. Oxford **45:2** (1994), 133–149. [MR1280689\(95g:47060\)](#). [Zbl 0826.47013](#).
- [2] ARENDT, W., BATTY, C. J. K.: *Almost periodic solutions of first- and second-order Cauchy problems*. J. Differential Equations **137** (1997), no. 2, 363–383. [MR1456602\(98g:34099\)](#). [Zbl 0879.34046](#).
- [3] DALECKII J., KREIN M. G.: *Stability of solutions of differential equations on Banach spaces*. Amer. Math. Soc., Providence, RI, 1974. [MR0352639\(50 #5126\)](#). [Zbl 0960.43003](#).
- [4] ERDELYI I., WANG S. W. *A local spectral theory for closed operators*. Cambridge Univ. Press, London (1985). [MR1880990\(2002j:34091\)](#). [Zbl 0577.47035](#).
- [5] KATZNELSON Y.: *An Introduction to harmonic analysis*. Dover Pub., New York 1976. [MR2039503\(2005d:43001\)](#). [Zbl 1055.43001](#).
- [6] LEVITAN B.M., ZHIKOV V.V.: *Almost periodic functions and differential equations*. Cambridge Univ. Press, London 1982. [MR0690064\(84g:34004\)](#). [Zbl 0499.43005](#).
- [7] LIZAMA C.: *Mild almost periodic solutions of abstract differential equations*. J. Math. Anal. Appl. **143** (1989), 560–571. [MR1022555\(91c:34064\)](#). [Zbl 0698.47035](#).
- [8] CIORANESCU I., LIZAMA C.: *Spectral properties of cosine operator functions*. Aequationes Mathematicae **36** (1988), 80–98. [MR0959795\(89i:47071\)](#). [Zbl 0675.47029](#).
- [9] NGUYEN, L.: *On the Mild Solutions of Higher Order Differential Equations in Banach spaces*. Abstract and Applied Analysis. **15** (2003) 865–880. [MR2010941\(2004h:34111\)](#). [Zbl 1076.34065](#).
- [10] PRUSS J.: *On the spectrum of C_0 -semigroup*. Trans. Amer. Math. Soc. **284**, 1984, 847–857 . [MR0743749\(85f:47044\)](#). [Zbl 0572.47030](#).
- [11] PRUSS J.: *Evolutionary integral equations and applications*. Birkhäuser, Berlin **2012**. [MR1238939\(94h:45010\)](#). [Zbl 1258.45008](#).
- [12] ROSENBLUM M.: *On the operator equation $BX - XA = Q$* . Duke Math. J. **23** (1956), 263–269. [MR0079235\(18,54d\)](#). [Zbl 0073.33003](#).
- [13] RUESS, W.M., VU QUOC PHONG: *Asymptotically almost periodic solutions of evolution equations in Banach spaces*. J. Differential Equations **122** (1995), 282–301. [MR1355893\(96i:34143\)](#). [Zbl 0837.34067](#).

- [14] SCHÜLER E.: *On the spectrum of cosine functions*. J. Math. Anal. Appl. **229** (1999), 376–398. [MR1666408\(2000c:47086\)](#). [Zbl 0921.34073](#).
- [15] SCHÜLER E., VU Q. P.: *The operator equation $AX - XB = C$, admissibility and asymptotic behavior of differential equations*. J. Differential Equations, **145**(1998), 394–419. [MR1621042\(99h:34081\)](#). [Zbl 0918.34059](#).
- [16] SCHÜLER E., VU Q. P.: *The operator equation $AX - XD^2 = -\delta_0$ and second order differential equations in Banach spaces*. Semigroups of operators: theory and applications (Newport Beach, CA, 1998), 352–363, Progr. Nonlinear Differential Equations Appl., 42, Birkhauser, Basel, 2000. [MR1790559\(2001j:47020\)](#). [Zbl 0998.47009](#).
- [17] SCHWEIKER S.: *Mild solution of second-order differenttial equations on the line*. Math. Proc. Cambridge Phil. Soc. **129** (2000), 129–151. [MR1757784\(2001d:34092\)](#). [Zbl 0958.34043](#).
- [18] VU QUOC PHONG: *The operator equation $AX - XB = C$ with unbounded operators A and B and related abstract Cauchy problems*. Math. Z. **208** (1991), 567–588. [MR1136476\(93b:47035\)](#). [Zbl 0726.47029](#).
- [19] VU QUOC PHONG: *On the exponential stability and dichotomy of C_0 -semigroups*. Studia Mathematica **132**, No. 2 (1999), 141–149. [MR1669694\(2000j:47076\)](#). [Zbl 0926.47026](#).

Nezam Iraniparast

Department of Mathematics,
Western Kentucky University,
Bowling Green KY 42101, USA.

E-mail: nezam.iraniparast@wku.edu

Lan Nguyen

Department of Mathematics,
Western Kentucky University,
Bowling Green KY 42101, USA

E-mail: lan.nguyen@wku.edu

License

This work is licensed under a [Creative Commons Attribution 4.0 International License](#). 

Surveys in Mathematics and its Applications **10** (2015), 23 – 40
<http://www.utgjiu.ro/math/sma>